ASSEMBLY INSTRUCTIONS

TWIN, FULL, QUEEN METAL BED

It is recommended that this item should be assembled by two adults.

Pagelof 5




Al Headboard 1PC
A2 % Footboard 1PC
Sideralil OPCS
A3
A4
/ Side dlat OPCS
AS

AB / Middle dat 5PCS

A7 | Support leg 2PCS
Bl BOLTS (1/4"*1-1/5") 6PCS
B2 &O BOLTS(1/4"*4/5") 8SETS
B3 ® BOLTS(1/4"*1/2") 14PCS
B4 e Nut (1/4") 4PCS
B5 @ @30 2PCS
ALLEN WRENCH(4MM) OPEN SPANNER

Page 2 of 5




8SETS
4mm
1PC
4PCS
4mm
1PC

Please do not tighten bolts B2 until step 5.

=

A2

STEP:1
STEP:2

Please do not tighten bolts B3 until step 5.
Page 3 of 5




STEP:3

STEP:4

Bl

Bl

A7

BS

Page4 of 5

B5

Please do not tighten bolts B1 until step 5.

Bl &

2PCS

1PC

B5 & s

s

B1 4PCS
g

Amm
1PC

B4 @®  4pcs
> 1re




STEP:5

Please tighten all bolts at this point.

1).Please use proper size mattress or mattress support to help prevent the
likelihood of entrapment or fall.

2). For your safety, please do not jump on the bed.
3). The weight load on the bed should never exceed 500 LBS. Exceeding this

weight limit may cause of the bed to collapse, resulting in serious personal injury
or property damage.

Page 5 of 5




